
■ つぎの数字の読み方として正しいものをえらんで、丸(○)をつけて答えましょう。

① 40013

四万千三

四万十三

四万百三

② 30203

三万二千三

三万二百十三

三万二百三

③ 42080

四万二千八十

四万二百八十

四万二千百八

④ 10900

一万九百

一万千九百

一万九千

⑤ 22200

二万二千二百

二万二百二

二万二千二百十

⑥ 10540

一万五百四

一万五十四

一万五百四十

⑦ 96017

九万六百十七

九万六千十七

九万六千百七十

⑧ 97604

九万七千六百四十

九万七千六百四

九万七千六十四

⑨ 40030

四万三

四万十三

四万三十

⑩ 81000

八万千

八万百

八万千十

⑪ 90098

九万九百八十

九万九十八

九万百九十八

⑫ 70420

七万四百二十

七万四千二

七万四十二

⑬ 50204

五万二千四

五万二百十四

五万二百四

⑭ 76006

七万六千十六

七万六千六

七万六十六

⑮ 66270

六万六千二百七十

六万六百二十七

六万六千二十七
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